(B/S)E@
1| 2

(N/'S)15h6"D

(B/S) PRI 15H6"@

2% |3 910 1k 3 131
314 c
(%) MC6X12x 116 b <J (1h)
7 \
ONE - H BRACE - 725BR4
(TOE DIRECTION FAR SIDE)
1M, 2% 9l |3 8-10 1k 3, 9% 21h
PR]
] S ———<1515"@ >(N/S)
I I _ _ _ _ . ] ]
o et e e T e e
) \2- 7012 \p7012 2- p7012 / -
P (TYP.)
51h | 5% 4915 4-915h¢ 5% D
o | ‘2' p7012 cf p7012 c'f 2- p701‘2 ‘ N
“LL—‘ T o m A— T HF T T 1 T Ti];
Pary — — Fary
- N ‘ | o L 1516"@ PR (B/S)
o —~ 16"@ ’|PR
11 2% |3 9-10 1o 331 |21
3% 5.5 8 ﬂ

1h, 3 1010 Vs 3
(FI'S) PRI 1546"g - - —=—1546"@ >[PR (F/8)
2 2
(-51he) L2- 1hX2- 1bX3f x 11'-7 1y (-511he)
\
— ONE - H_BRACE - 725BR1 oz
- / =
o e Mﬁﬁfk@; - — - - - 7@47141‘_#@ s
(N/S) PRK 15h16"@ — — —— = 15h6"@ PRI (N/S)
11 2% 1178 |3 8518 3 1-0 21h
51 | 5% 9-77k 554
/2 pT012 2-p7012 L (TYP)
=l & A
| L T AN |
FT=T =T T - — - = Tl Ve ol T T
SIS SR
L1 I 7‘QL7 _ _ _ _ _ _ _ _ _ 7{\17 o[ |
T\l -
(B/S) - - @@N/S) (N/S)@@ — =~ "%he"2 [PRI(B/S)
1142 |3 910 1h 33l 2%
31 A
(o) MC6X12x 116 1k ()
1 7
ONE - H BRACE - 725BR2
(TOE DIRECTION FAR SIDE)
11, 2% 91y |3 893 3 10 2k
(N/S)[PRK 15h16"@ == —— - —~=—155"@ {PR](N/S)
T T - - I - I I B
o et ee oo " eel
= \2- p7012 2- p7012 J -
51 | 5% 9-77k 556 5
/2- p7012 2. p7012
N SR = NI N
T A Al [ [ 7 i
R Polee o
~ ~
" —~ 1546"@ (PR (B/S)
B/S) PRK 15h6"@ - "
(B/S) PR 1546 B =@E(F/S) (FIS)PR 15h6"@ > = =
1 2% |3 910 1k 33 2%
31 B
(o) MC6X12x 116 1k QJ (-1h)
1 7
ONE - H BRACE - 725BR3
(TOE DIRECTION NEAR SIDE)
2- p7012 2- p7012
A )
= H/ Te & ® é\ e o -
et — — - —————
(N/S)E@ - - - - - 1546"@ JPR](N/S)
11|2% 9ol |3 893 3 10 21k
51h | 5% 9-778 5%
/2- p7012 297012 (TYP)
| [ - A | |
FT=T T — — - e T
SIS SIS
L1 L o 7‘QL - - - - - - - - oL 1

~
1546"@ PR (N/S)

(N/ S) E 15/16"Q

(-12)

MC6X12x 116 b

ONE - H_BRACE - 725BR5

(TOE DIRECTION NEAR SIDE)

- (B/S)
21h

p7012
@ 3 SIDES TYP.
A

A-A

3 SIDES TYP.
>1—/4{>E:
7012

p
B-B
p7012
3 SIDES TYP.
1
C-C
3 SIDES TYP.
1
p7012
D-D
(FIS)[PRK 15116"D
8
‘ i 1
LL% =
p7012
E-E

Ship Qty Weight
Qty Mark Unit DESCRIPTION Ibf LENGTH Grade REMARKS
725BR1 1 | L2-1/2X2-1/2X3/8 68.31 117 1/4" | A%
4 | 7/8"@ A325SC BOLT 0-2" | Site
725BR2 1 | MC6X12 138.65 116 1/2" | A%
4| p7012 4 | PL3/8"X2 3/16" 4.73 0'-5 1/4" A3
725BR3 1 | MC6X12 138.65 116 1/2" | A%
4| p7012 4 | PL3/8"X2 3/16" 4.73 0'-5 1/4" A3
4 | 7/8"Q A325SC BOLT 0-31/4" | Site
8 | 7/8"@ A325SC BOLT 0-21/2" | Site
725BR4 1 | MC6X12 138.65 116 1/2" | A%
4| p7012 4 | PL3/8"X2 3/16" 4.73 0'-5 1/4" A3
725BR5 1 MC6X12 138.65 11'-6 1/2" A36
5 p7012 5 | PL3/8"X2 3/16" 5.91 0'-5 1/4" A3
4 | 7/8"Q A325SC BOLT 0-31/4" | Site
8 | 7/8"% A325SC BOLT 0-21/2" | Site
TOTAL WEIGHT THIS DRAWING 68.31
PR| INDICATES PRIMER ONLY AREA WITHIN 3" OF OPEN HOLES.
REF: E702
REV: DATE: REVISION NOTE:
A 02/16/2015 FOR APPROVAL
PROJECT: STAMFORD RAILROAD STATION IMPROVEMENTS PAYITEM: 0040 (SITE No.1)
CITY OF STAMFORD CTDOT PROJECT No:  0301-0157
PEDESTRIAN BRIDGE PROJECT NO: 2015-001
DRAWN BY: MA | DATE: 02/16/2015
Customer:
CHECKEDBY: AS | DATE: 02/16/2015
FABRICATOR: JOB NO. REV:
1942-14E A
DESIGNER: HOLES: MAT'L SPEC. WELD CODE: DRAWING TITLE:
AS NOTED AS NOTED AWSD1.1 H_BRACE
DWGSIZE:  914x609 SCALE: DRAWING: 725




